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Dealer S Dealer W Dealer N Dealer E
EWVL o 8%1072 Bonvil 5 Noaro2 NSva 5 1083 EWVUT 5 OO
¢+ A7 ¢ J4 4 ¢ J1083 5 * §103 6
& QJ107 & K3 & A7 & 52
& A95 & K64 |& J76 & Q95 |& K52 4 8 & 74 & AK
v 754 v A103 |v K1062 v J87 v Q864 v AK952|v AK954 v 10876
¢ J63 ¢ KQ102 ¢ K97 ¢ Q863 ¢ K54 ¢ AQ62 ¢+ AK4 ¢ 972
& K865 & A42 & A96 & 872 & K92 & QJ10 % J86 & Q103
4 83 & A8 & QJ1094 4 J108
12 v KJ982 13 v 043 S v] 5. w2
8 16 4 9854 115 & A105 1116 4 97 15 11 4 3865
4 #093 11 & QJ1054 4 86543 9 & AK974
Dealer S Dealer W
Bon Vil 5 AKJIOS Nons vul 5 A
¢ KQJ10 7 ¢+ QJ106 8
*Q * J65
& A82 4 J1063 | J95 4 86
v 6 v 1032 |v 9873 v 105
¢ A95 ¢ 63 ¢+ 8 ¢ A7543
& A10765 & KJ84 |& K8732 & AQ104
& KQ54 & AKQ32
16 v Q754 10 v KJ4
12 5 4 874 4 10 4 K92
T .92 16 a9
North South West East
Mean HCP 10.12 9.25 10.88 9.75
Balanced Hands 4 4 6 5
Voids 0 0 0 0
Singletons 0 3 2 2
Long Suits (>6) 0 0 0 0
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[Event ""]

[Site ""]

[Date ""]

[Board "1"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "N"]

[Vulnerable "None"]

[Deal "N:KQJ43.8632.K5.98 T.K74.QJT93.K752 A865.QJT.A842.A3 972.A95.76.QJT64"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{



N–S wins the bidding round, and South chooses spades as trump. According to the

straight, the goal is at least 8 tricks.



West plays \CQ, the highest from the sequence. South counts the trump as we

learned in a previous lesson: We have 9 trumps in total, and thus lack 4. When

everyone follows suit the first time we play trump, the opponent only has two

left, etc.



This game is a bit difficult, because it is the heart that must be played, and

you are missing both the ace and king of hearts that must be squeezed out

before the \H10 is played.



Reflection: Why did you get more tricks than the straight indicated? What

factors with the cards played into it? How would it have played in grand play?}

[BCFlags "1f"]

[Auction "N"]

9 9 15 7



[Event ""]

[Site ""]

[Date "2000.00.00"]

[Board "2"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "E"]

[Vulnerable "NS"]

[Deal "E:JT6.T982.Q5.K976 9742.KJ63.743.A3 KQ83.A74.AK2.QJ4 A5.Q5.JT986.T852"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{



East - West wins the bidding round, and should win 9 tricks. West finds out

that the partner pair does not have any suit of at least 8 cards. Then it is

best to play grand.



North likes to play \DJ, the top of the sequence. Now it is up to West to

recognize that either the spade or the club must be played first, and then the

other black suit.



It can be difficult to see the blind man's and declarer's hand together, that

you have the three highest cards in spades on the two hands together. Feel free

to give a hint about this in advance.



}

[BCFlags "1f"]

[BidSystemEW "SWED"]

[BidSystemNS "SWED"]

[Auction "E"]

6 8 19 7



[Event ""]

[Site ""]

[Date "2000.00.00"]

[Board "3"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "S"]

[Vulnerable "EW"]

[Deal "S:83.KJ982.9854.93 A95.754.J63.K865 QJT72.Q6.A7.QJT7 K64.AT3.KQT2.A42"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{



East-West wins the bidding round again, and must take at least 8 tricks. This

time they also fail to find a trump suit of at least 8 cards in total, and

choose grand.



South has a difficult lead, and can choose anything. The only card we should

refrain from playing is \HK, since we have learned that it promises the queen

and jack, and \HJ, which promises the ten and nine.



East's task is to recognize that it is the diamond suit that must be played

before we take the safe tricks. It can be difficult to see the blind man's and

declarer's hand together, so please guide them so that they find the suit that

can be played.}

[BCFlags "1f"]

[BidSystemEW "SWED"]

[BidSystemNS "SWED"]

[Auction "S"]

4 8 12 16



[Event ""]

[Site ""]

[Date "2000.00.00"]

[Board "4"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "W"]

[Vulnerable "All"]

[Deal "W:J76.KT62.K97.A96 KT432.AQ5.J42.K3 Q95.J87.Q863.872 A8.943.AT5.QJT54"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{



North-South wins the bidding round and must take at least 8 tricks. North

becomes declarer.



The declarer cannot find a suit with at least 8 cards in total, and chooses to

play grand. Some might choose to play with spades as trump? That's fine too,

because the task is the same: North-South have the four second-highest clubs in

their two hands. They only lack the ace, and must play the club. Again, it's

important to look at the hand and the board together.



It's possible to get lost in this game, because we haven't learned to play the

honors from the short hand first (another bridge term the kids haven't heard

of). Then if you're unlucky, you can block the suit. In that case, it's a great

opportunity to talk about it later.}

[BCFlags "1f"]

[BidSystemEW "SWED"]

[BidSystemNS "SWED"]

[Auction "W"]

11 13 5 11



[Event ""]

[Site ""]

[Date "2000.00.00"]

[Board "5"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "N"]

[Vulnerable "NS"]

[Deal "N:A763.T73.JT83.A7 8.AK952.AQ62.QJT QJT94.J.97.86543 K52.Q864.K54.K92"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{



East-West wins the bidding round with 27 honor points and must take at least 10

tricks in total. They choose \H as trump.



East has the task of recognizing that the club suit must be played. But let's

not forget what we learned earlier: Take out the trump ;-) If East forgets, let

it happen! East will still manage at least 10 tricks.}

[BCFlags "1f"]

[BidSystemEW "SWED"]

[BidSystemNS "SWED"]

[Auction "N"]

9 16 4 11



[Event ""]

[Site ""]

[Date "2000.00.00"]

[Board "6"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "E"]

[Vulnerable "EW"]

[Deal "E:AKQ.T876.972.QT3 JT8.2.J865.AK974 74.AK954.AK4.J86 96532.QJ3.QT3.52"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{



West becomes declarer and chooses \H as trump.



North has no obvious play based on what we have learned, and can play anything

(except \DQ or \D10, as that will promise a sequence). If North asks for

advice, you can mention that we will learn something about what to play from

such cards in a later lesson. Now it's just a matter of taking a chance!



West has several tasks ahead of him: Lead the trump, play the club, and sag a

diamond on the good spades.





}

[BCFlags "1f"]

[BidSystemEW "SWED"]

[BidSystemNS "SWED"]

[Auction "E"]

11 9 15 5



[Event ""]

[Site ""]

[Date "2000.00.00"]

[Board "7"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "S"]

[Vulnerable "All"]

[Deal "S:KQ54.Q754.874.92 A82.6.A952.AT765 97.AKJ98.KQJT.Q3 JT63.T32.63.KJ84"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{



South becomes the leader and must win at least 7 tricks



West has a difficult lead that does not fit the lead rules we have learned. Let

all leads be ok.



South has two main tasks: To lead the trump (remember how we count: we have 9

trumps in total, and therefore lack 4. Both follow the first round, 4-2 = 2

trumps left out), and to play the diamond suit. Preferably in that order,

otherwise East gets a steal.



Why did we get more tricks than the straight indicates this time? What was it

about the cards that matched so well?

}

[BCFlags "1f"]

[BidSystemEW "SWED"]

[BidSystemNS "SWED"]

[Auction "S"]

15 5 7 12



[Event ""]

[Site ""]

[Date "2000.00.00"]

[Board "8"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "W"]

[Vulnerable "None"]

[Deal "W:J95.9873.8.K8732 T74.AQ6.QJT6.J65 86.T5.A7543.AQT4 AKQ32.KJ42.K92.9"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{



South becomes the leader and chooses spades as trump.



If you are really unlucky, West will find the play of the single rook and get a

steal. If you are really, really unlucky, the opponents will find another

steal.



If the opponents find the steal, it is a good moment to talk about ethics

(after the game?) Because East can in no way give any indication of what suit

East wants back. West can manage to play clubs without help or hints, since the

two alternatives are trump or hearts where you see ace of hearts on the board.



So if you get the chance, it is important to take out the trump early in this

game.}

[BCFlags "1f"]

[BidSystemEW "SWED"]

[BidSystemNS "SWED"]

[Auction "W"]

4 10 10 16

�

